
Hier eine Konversation mit dem Reasoner V1 Modell: 

 
<!DOCTYPE html> 
<html lang="de"> 
<head> 

<meta charset="UTF-8"> 
<meta name="viewport" content="width=device-width, initial-scale=1.0"> 
<title>Primzahlen zwischen 1 und 100</title> 

</head> 
<body> 

<h1>Primzahlen zwischen 1 und 100</h1> 
<ul id="primeNumbers"></ul> 
 
<script> 

function isPrime(n) { 
if (n <= 1) { 

return false; 
} 
for (let i = 2; i <= Math.sqrt(n); i++) { 

if (n % i === 0) { 
return false; 

} 
} 
return true; 

} 
 
const primeNumbersList = document.getElementById('primeNumbers'); 
 
for (let number = 1; number <= 100; number++) { 

if (isPrime(number)) { 
const li = document.createElement('li'); 
li.textContent = number; 
primeNumbersList.appendChild(li); 

} 
} 

</script> 
</body> 
</html> 

 



 


